May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

CABLE PLUG CMALE CONTACT, PQ50S SERIES 36positions. TYPE)

(P=4.05)

T

(20.25)

(1
T
N
\|

WITH SAPTIVE WASHER CMAX0. 7X16)

~—

JIS B 1188 = CROSS RECEDDED NEED SCREWS

BILL OF MATERTAL FOR A CABLE PLUG CMALE CONTACTD REQUIRED QUANTITY

—
]

U
=
18.8)

/

JIS B 1188 + CROSS AECESSED NEED SCRENS '
[VITH CAPTIVE WASHER CuAX0.7X12)

(64

(48.8) CABLE CLANP
(33.2)
(28) @
NP
k%
! B (/p/g
J
WALE CRINP CONTACT )

.

COVER CASE

(30.2)

COVER CASE

CONPONENT RETER WY PART Mo, | CL No. REMARKS
HOUSIIG 7 |PO505-36P CL236-2123-0 | THE PRODICT 15 & HOUSING WITH THD SHIELD SHELLS ASSEMBLED IN A P-INSULATED CASE
THO PLECES OF SINGLE-UNIT ARE USEL.
COVER CASE 2 |POS0-20P-PC  CL236-2000-8 1 yre g’y . chass RECESSED NEED SCREWS WITH CAPTIVE WASHER QXL TX16) ATTACHENT
L (L 1 POONC2Z. 0> or [L236-2013-0 or] WPLICILE LE OVTER 01 - o2m or 9 5m
PO-CHCIS. 00 |CL236-2005-1 | JIS B 1188 : CROSS RECESSED NEED SCRENS WITH CAFTIVE WASHER QHAXO.7X12) ATTACHMENT
| REQUIRED NUWEER [P05052-1618PCFA| CL236-0032-0 | APPLICABLE WIRE : UL1007 MWGHT6~18. UL1015 AWGH16~18
MALE CRINP CONTACT (STANDARD CONTACTY @ | REQUIRED NUNBER [PO50S2-1822PCFA| CL236-0035-0 | APPLICABLE WIRE : UL1007 AWGHT8~22. ULT0T5 AWGHIB~22
| REQUIRED NUMBER [P05052-2428PCFA| CL236-0038-0 | APPLICABLE WIRE - ULT007 AWGH24~28. UL1015 AWGH24~28
(35.2)
) HISING
-
1 L B ———n

JTS B 1188 < PAN HEAD MACHINE SCREW WITH

SPRING LOCK WASHER + PLANE WASHER (N4X0. 7X16)

(1

MIS-MATING PREVENTION KEY CPOLARZATIOND TYPE

MATING FACE

CIRCULT No. IDENTIFICATION

[CONTACT INSERTION SIDE]

o
ﬁ CEEEEEE
EIEEEEER N A
Bi| Bi| Bi| B Bi
L] EEEEEE NO MALE CRIWP CONTACT INTO
SISIE[SII]! THE POSTTION T0 B KEY NUUBER,
CEXAMPLE OF KEY TYPE : B2 - (2D
COUNT | DESCRIPTION OF REVISIONS DESIGNED CHECKED DATE
Al 3 DIS-E-00014649 KIM_JAEHYEON 6. OKITA 20230901
TITLE
PA50S SRIESE HS HIROSE ELECTRIC CO.. LTD.
36p0sitions. TYPF APPROVED | MN.KENJO 20220106
CHECKED 6. OKITA 20220106
ASSEMBLED & MATED CHARGED HY. MATSUDA 20211229
CONDITION WRITTEN KH. KOG 20211229
TECHNICAL SPECIFICATION ETAD-E3185-00 ‘Z& 1%

FORM 213-1-1




May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

[N-LINE RECEPTACLE CFEMALE CONTACT, PQ50S SERIES 36positions. TYPE)

(19.5)
(P=3.9) w2
(—( 1 AR =
|
j "
solaleeiasbol s =
= S
!
2\ : A,
(12.8) HOUSING
(38.6) D SHELL
i JIS B 1188 - CROSS RECESSED NEED SCREWS
N WITH CAPTIVE WASHER CNAXD. TX16)
4N
JI5 81188 - CROSS RECESSED NEED SCREWS
WITH CAPTIVE WASHER CNAX0.7X12)
L
| _||j m (NER LA
CABLE CLANP
(48.8)
(33.2) Q
\>
(28) S
~
FEMALE CRINP CONTACT /,0/2
&,

BILL OF MATERIAL FOR AN IN-LINE RECEPTACLE CFEMALE CONTACT) REQUIRED QUANTITY

CONPONENT REQUTERD QUANTITY] PART Mo, CL No. REWARKS
HOUSING 1 | Pa503-36 0L236-2122-0 | THE PRODUCT 15 ORLY AVAILABLE TN § TNSULATED CASE
D SHELL 1 [P050-208-05 | CL236-2015-5
TH0 PLECES OF SINGLE-UNTT ARE USED
COVER CASE 2 | Pa50-208-JC | CL236-2002-3 1 e p'yaan + cROSS RECESSED NEED SCRENS WITH CAPTIVE WASHER GQUEXD.TX16) ATTACHNENT
il CLp 1 |POONG2 D) or [CL236-2013-0 o MPLIALE CALE VTR L4 ¢ 2w ur 95
PO-CHCTS 00 |cL236-2005-1 | JI5 8 1188 « CROSS RECESSED NEED SCRENS WITH CAPTIVE WASHER GHAXC.7X12) ATTACHNENT
DI REQUIRED NONBER | PO50S2-1618SCFA| CL236-0042-0 | APPLICABLE WIRE : UL100T AWGH16~18. ULT0T5 AWGHT6~18
/| FAIE ChIWp coNTacr |@] REQUIRED NUNBER | PO5052-18225CFA| CL236-0036-0 | APPLICABLE WIRE : UL10D7 AWG#18~22. UL1DTS AWGH18~22

Ol REQUIRED NINBER | PO5052-24285CFAL CL236-0039-0 | APPLICABLE WIRE : UL1007 AWGH24~28. UL1015 AWGH24~28
CO0ING Y @l REGUIRED NUMBER | PO50S-SC-KY [ CL236-2033-7 | DUMNY CONTACT FOR MIS-MATING PREVENTION.
(35.0)
(1.2)

N
: | S
o
JIS B 188 ¢ CROSS RECESSED NEED SCREKS
@@ NITH CAPTIVE WACHER GHAXL.TX1E)
J N 1 —— U
COVER CASE QT— i

(0. MLS-MATING PREVENTLON KEY CPOLARLIATION) TYPE

MATING FACE

nn

1

‘ R
220 2
) ),

1IN

CIRCUIT No.
[CONTACT INSEﬁTION SIDE] ToENTIFICATION

L1JDb

==

CODING KEY
CEAMMPLE OF KEY TYPE: B2 C2)
INSERT CODING KEY TO THE
POSITION T0 BE KEY NUMBER
HG H1ROSE ELECTRIC CO.. LTD. ETAD-E3185-00 | A |27

FORM 213-2-2




May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

PANEL ATTACHMENT RECEPTACLE CFEMALE CONTACT, PQ505 SERIES 36positions. TYPE)

BILL OF MATERTAL FOR AN IN-LINE RECEPTACLE CFEMALE CONTACT) REQUIRED QUANTITY

COMPONENT REQUIERD QUANTITY]  PART No. CL No. REMARKS
HOUSING 1 PA50S-365 CL236-2122-0 | THE PRODUCT TS ONLY AVAILABLE IN S INSULATED CASE.
D SHELL 1 PA50-20S-FL CL236-2001-0
FEMALE CRINP CONTACT|{CD| REQUIRED NUMBER | PQ50S2-1618SCFA|CL236-0042-0 | APPLICABLE WIRE : UL1007 AWGH#16~18. UL1015 AWGH#16~18
A @/ REQUIRED NUMBER | PQ5052-18225CFA| CL236-0036-0 | APPLICABLE WIRE : UL1007 AWGH18~22. UL1015 AWGH18~22
O | REQUIRED NUNBER | PQ5052-24285CFA| CL236-0039-0 | APPLICABLE WIRE : UL1007 AWGH24~28. UL1015 AWGH24~28
[__ __] CODING KEY @| REQUIRED NUMBER | PQ50S-SC-KY CL236-2033-7 | DUMMY CONTACT FOR MIS-MATING PREVENTION
( )
(63)
(18 )X &)
(38.6) I
1K
(19.5) =l 2 (10.7) (3) (19.4) (38.8)
(P=3.9) < = '
2-M4X 0. TCTHROUGH-HOLE) | \ (]
Sk 3 3 uiffs | Sk
z | EE mills © z
O
52 | FEMALE CRIMP CONTACT 2-M3X0. 5CTHROUGH-HOLED
(38.4) — (46.5)
(51.5)

MIS-MATING PREVENTION KEY CPOLARIZATIONY TYPE

MATING FACE

[CONTACT INSERTION SIDE] 1 AL

l
DENTIFICATION

mi=

CODING KEY \
(EXAMPLE OF KEY TYPE : B2 - €2)/
INSERT CODING KEY 10 THE
POSITION T0 BE KEY NOMBER
HG H1ROSE ELECTRIC CO.. LTD. ETAD-E3185-00 | A |3

FORM 213-2-2




A CABLE PLUG CMALE CONTACT) AND AN IN-LINE RECEPTACLE CFEMALE CONTACT)  MATED CONDITION

May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

(146.9)

r——— —
2 @
- O @ N W @: )i
| e v N &= N °
@ |

T\

(35.2)

/_\O

T
>
(352)

HRS HIROSE ELECTRIC CO..LTD. ETAD-E3185-00

FORM 213-2-2




May.1.2024 Copyright 2024 HIROSE ELECTRIC CO., LTD. All Rights Reserved.

A CABLE PLUG CMALE CONTACT) AND A PANEL ATTACHMENT RECEPTACLE CFEMALE CONTACT)  MATED CONDITION

MATED CONDITION IN FRONT ATTACHMENT

N

It

MATED CONDITION IN REAR ATTACHMENT

PANEL ATTACHMENT RECEPTACLE
CFEMALE CONTACT)

(48.8)

/|

M3 SCREW

CCOMMERCTAL ITEM

CRIMP TERMINAL

(COMMERCTAL ITEM

: )
T [ )1g§§§§) ‘t
5 o)L )
G SR
ALE_‘U]E \@
E:JD — ~
(19.4)
(140 (78)
W3 SCREN
| CCOMMERCIAL TEM) CABLE PLUS CALE CONTACT)
1M — i )
ifis I Q

\ 1 1

RECOMMENDED PANEL
CUTOUT DIMENTTONS

CFRONT ATTACHMENT)
40.6 £ 0.3

CONNECTOR REAR SIDE

i?/ 2-M3X0. 5CTHROUGH-HOLED

" EEEERR
A&ﬂ@@@@@@W%ﬁ
| /7]

[ &
T BEERRE T
“

[
IR

S
2277/ s |
[ e |
! emmnn .
L BEEEE +

33.2 £ 0.3

[
ij?gil__ — T é%
h Z _%ymn
N »
~, o
X% %
48,6 £ 0.3 fy

5.5+ 0.1

(48.8)

. @)L )
S A S0
vy - @
| e S p N
O (D
(24.4) (73)
(22.4)
M4 SCREW

CCOMMERCIAL ITEM) CABLE PLUG CMALE CONTACT)
/

/T T T

~N

[1

TOo—1»0
=

PANEL ATTACHMENT RECEPTACLE
CFEMALE CONTACT) //ﬂ

2%;533

=

M3 SCREW
CCOMMERCTAL TTEM
CRIMP TERMINAL
(COMMERCTAL ITEMD

GONNECTOR MATING FACE

RECONMENDED PANEL

CUTOUT DIMENTIONS
(REAR ATTACHNENT)
40.6 £ 0.3

)
o) |
= Il
me
T
AN
g

e
=
%
Ut

b
£ 6 0%

%

LW

Mg Mgl Mgt
80808
&

1
)
o

2 I
I

=
& I
L

22.1£0.3

-
-

E o,

WE%F

2

I W

) 2

-3
==5- ——
N = =

o’
(=
5
i i
Igg
%
5
ﬂ%f
N=

t
I
!
L

33.2 £ 0.3

=
r\J
28.4 £ 0.3 %;;

5.5 + 0.1

HRS

HIROSE ELECTRIC CO., LTD.

ETAD-E3185-00

FORM 213-2-2




